Distributor of FCI: Excellent Integrated System Limited
Datasheet of 20020011-G021B01LF - TERM BLOCK PLUG 2POS 270DEG 5MM
Contact us: sales@integrated-circuit.com Website: www.integrated-circuit.com

"
punnam|
L

ectronic components

-

Excellent Integrated System Limited

Stocking Distributor
Click to view price, real time Inventory, Delivery & Lifecycle Information:

ECI
20020011-G021B0O1LF

For any questions, you can email us directly:

sales@integrated-circuit.com


http://www.integrated-circuit.com/manufacturers/Fci.html
http://www.integrated-circuit.com/manufacturers/Fci.html
http://www.integrated-circuit.com/tag/20020011-G021B01LF.html
http://www.integrated-circuit.com/tag/20020011-G021B01LF.html
mailto:sales@integrated-circuit.com
mailto:sales@integrated-circuit.com

|

—
] -
- . - e .
- - -
- - ~—
- - - . s
- s = =n -
- Em. W

Ccnts

=

Distributor of FCI: Excellent Integrated System Limited
Datasheet of 20020011-G021B01LF - TERM BLOCK PLUG 2POS 270DEG 5MM
Contact us: sales@integrai._e&-iircuit.com Website:

www.integrated-circuit.com

L'Ls\lluniu compot

—~ ~ ~
- S = - G
P2 FClconnect.com | 3] 4
PRODUCT NUMBER
PR 20020011 OO0 O>Qdgofd LF
PITCH
C: 3.50 mm POLES
D: 3.81 mm 02: 2 POLES LF : NOTED RoHS COMPATIBLE
G: 5.00 mm 03: 3 POLES
H: 5.08 mm 04: 4 POLES
: 1 STANDARD PRODUCT
: W/ BOX PACKING
PROPERTY TABLE :
FCI SERIES NAME_| 02-350 | 02-381 | 02-500 | 02-508 24: 24 POLES
PITCH (mm) | 350 381 5.00 5.08
VOLTAGE RATING (VAC) | 300 300 300 300 SCREW CODE
CURRENT RATING (a) | SUlus | 8 8 12 12
- v&i - 161028 151028 12NA2 ’ 12NA2 ' CODE SCREW TYPE AVAILABILTY
APPLICABLE WIRE RANGE (AWG) - = — = =
W 20 2 18 8 A | -/+| € | onReEQUEST ONLY A
A wiRe cross secrion| SO° [2-wRe[ 05 05 B =) STANDARD
— (mm?)  |sTRANDEDL=WREL 1.5 1.5 —
2-WRE| .75 0.75 . . HOUSING CODE ALL FLANGE SCREWS ARE ONLY AVAILABLE IN +/—
OPENING CONTACT HOUSING(mm?) [ 2.8x1.7 28x1.7 | 2.6x3.3 2.6x3.3 CODE | COLOR AVAILABILTY COMBINATION SCREW TYPES.
WIRE STRIP LENGTH(mm) | 67 6~7 6~7 6~7
TORQUE +/-10% (N-m/Lb—in) | 0.19/1.7 | 0.19/1.7 | 0.4/35 | 0.4/35 1 | GREEN(RAL 6018/T)|  STANDARD
SCREW | M2x0.4 M2x0.4 | M3x0.5 M3x0.5 2 BLACK ON REQUEST ONLY
cULu 1.6 16 16 1.6
WTHSTANDING VOLTAGE (kV) 4ot 25 NA NA 3 | GREY(RAL 7004/P) | ON REQUEST ONLY
OPERATING TEMP. ('C) [—40~+115 [ —40~+115 [-40~+115 | —40~+115 4 BLUE(RAL 5015/A) | ON REQUEST ONLY
POLES AVALABLE | 02~24 | 02~24 | 02~24 | (02~24
SAFETY CERTACATE | CEeBus BRus
NOTES:
1. MATERIALS
1—1 HOUSING: THERMALPLASTIC RESIN, UL 94V—0 RATED. mat’l. code surface tolerance [projection [product family
1—-2 SCREW: STEEL, ZINC PLATED. ASME vns\/ ASME Y14.5 TERMINAL BLOCK
1-3 CLAMP: COPPER ALLOY, NICKEL PLATED. Itr [ecn noldr |[date |tolerances unless otherwise spedi title
1—4 TERMINAL: COPPER ALLOY, TIN PLATED. A _|T110-0082| WL | 080510 15| X.£0.5 MM TERMINAL BLOCK
2. PRODUCT SPECIFICATION REFER TO FCl GS—12—625. B |T1o-ot40] WL | ososto |“"9°92 xx20.3 TINCH] | PLUGGABLE PLUG, BACK SIDE HOOK,
3. PRODUCT PACKING SPECIFICATION REFER TO FCI GS—14—1394. C [Ti0-0158] WL | 100410 | XET"| | XXX£0.1 scale W/FLANGE
4. FCl, SAFETY CERTIFICATE LOGO AND SERIES NAME TO BE SHOWN D |T11-0013| WL | 040811 |dr | WENDY CHEN] 051810 . |dwg no sheet 1 of 5]size
ON PRODUCT SURFAGE. E [T-o0508| WL | 01311 |TngA30N HSu_| 051810 Fc 20020011 A
5. THE PRODUCTS WHERE THE PART NUMBER END IN "LF” MEET THE [chr [GARY HSIEH | 051810 ‘/J 4
B EUROPEAN UNION DIRECTIVE AND OTHER COUNTRY REGULATIONS AS dl JOSEPH HSIA| 051810 type CUSTOMER Drawing | o
DESCRIBED IN GS—22—008. sheet Jrevision| E [EEE[E] [ ] NN Y N Y
index [sheet |1 [ 2] 3] 4]5] | T T 1T
I form:  A4mmXLe 1 | 2 I PDS: Rev :E3 STATUS:Released Printed: Sep 232011 I



= = £ Distributor of FCI: Excellent Integrated System Limited
= = = Datasheet of 20020011-G021B01LF - TERM BLOCK PLUG 2POS 270DEG 5MM
- & - a - . . . . . . .
=—= = "==1  Contact us: sales@integr scircuit.com Website: www.integrated-circuit.com
L-Lg\lmmu components —~ | ~ ~
1] 2 FClconnect.com 3] 4
PRODUCT NUMBER SERIES NAME PITCH
20020011 =CXXXXXXLF |  02-350 3.50 mm
Dim C
Dim D —
©3
P o
// |
(N
reYaVerYaYolon s
o)
XY Y @ g
5
p FLANGE SCREW M2.5
4.8 —
Dim A [.189] N = Number of poles
| Dim A|NX3.5[.138]
A ——— 02,87 _ Dim B |(N—1)X3.5[.138] A
— (/ 10 110x.067] Dim C [NX3.5[.138]+9.6[.378] e
; : Dim D |[(N—1)X3.5[.138]+8.6[.339]
—| ) (@]
gg SE B poles Tolerc-mce_
T e i e =y g e 2—4p | £0.10[.004]
T 5-7p | +£0.15[.006]
| | I 8—12p | £0.20[.008]
| _l_ A 13—18p | £0.25[.010]
_ 19-24p| +0.30[.012]
3.5
[.138] )
4.3 ) SECTION P—P
[’169] S 2p 1o 6p with wedge,above/p mat’l. code surface tolerance rojection [product famil
without wedge(including 7p) . e v14.5\/ | AoME Y145 P P Y TERMINAL BLOCK
Itr |ecn no[dr |date |tolerances unless otherwise spegi title
E 15l X.£0.5 MM TERMINAL BLOCK
e E X.X£0.3 TINCH] | PLUGGABLE PLUG, BACK SIDE HOOK,
XEU[ | XXX£0.1 scale W/FLANGE
|dr_WENDY CHEN | 051810 a |dwg no sheet 2 of 5[size]
051810
:'r'fr \éﬁg‘ugg 051810 FS/)J 20020011 As
d| JOSEPH HSIA | 051810 type CUSTOMER Drawing B
B sheet |revision| | I I I I I I I I I I

index [sheet 1 [ 1
I form:  A4mmXLc 1 | 2 I PDS: Rev :E3 STATUS:Released Printed: Sep 232011 I



|

T = 2 Distributor of FCI: Excellent Integrated System Limited
= E Datasheet of 20020011-G021BO01LF - TERM BLOCK PLUG 2POS 270DEG 5MM

Contact us: sales@integrai._e&-circuit.com Website:
J

=

www.integrated-circuit.com

L-Lg\lmniu components —~ ~ ~
1] 2 FClconnect.com 3] 4
PRODUCT NUMBER SERIES NAME PITCH
20020011-DXXXXXXLF |  02-381 3.81 mm
Dim C
Dim D —
oN
— 2
117
| A o N —
=)
@ W o
/i
L_p FLANGE SCREW M2.5
8
Dim A KL 104
N = Number of poles
| i A
A = =/ =+ a7 ’ DDnmg NX3.81[.150]
— // 5.170%.067] ’lm (N—1)X3.81[.150] e
. vl ) Dim C [NX3.81[.150]+9.6[.378]
“«§ oE‘ © |ﬁ| ﬁ © I Dim D [(N—1)X3.81[.150]+9.0[.354]
o No \'
] EJM TERMINAL poles Tolerance
Y ! = 2-6P | +£0.15[.006]
NN | & 7—12p | £0.20[.008]
H L ' I 13—17p | £0.25[.010]
T — 18—24p| +0.30[.012]
3.81 . 8 — P
3% ‘ (313 I[Eﬁz] g
4.5 —p
177 Dim B SECTION PP
2p to Bp with wedge,above7p mat’l. code surface tolerance [projection |product family
without wedge(including 7p) T T ﬁ';i:;‘u\r{u‘i:‘;m‘;w i TERMINAL BLOCK
E s X.£0.5 MM TERMINAL BLOCK
e E X.X£0.3 TINCH] | PLUGGABLE PLUG, BACK SIDE HOOK,
XEU[ | XXX£0.1 scale W/FLANGE
|dr_WENDY CHEN | 051810 a |dwg no sheet 3 of 5[size]
JASON HSU_| 051810
::.3' GARY HSIEH | 051810 FS/)J 20020011 As
d| JOSEPH HSIA | 051810 type CUSTOMER Drawing B
B sheet [revision| | 1 I I O I |
index [sheet [ [ [ [ [ ] I I I I I I
I form: A4mmXLe 1 | 2 I PDS: Rev :E3 STATUS:Released Printed: Sep 232011 I



=

T = 2 Distributor of FCI: Excellent Integrated System Limited
= E Datasheet of 20020011-G021BO01LF - TERM BLOCK PLUG 2POS 270DEG 5MM

s

Contact us: sales@integrai._e&-circuit.com Website:
J

www.integrated-circuit.com

L'Lb'\ul‘“iu uum-puncl —~ ~ —~
< ~ < = < <
1] 2 FClconnect.com 3] 4
PRODUCT NUMBER SERIES NAME PITCH
20020011 -GXXXXXXLF 02-500 5.00 mm
Dim C
Dim D N = Number of poles
i Dim A |[NX5.0[.197]+0.5[.020]
BN 7/ Dim B|(N—1)X5.0[.197]
3 f’;:“(”?\ i Dim C[NX5.0[.197]+10.0[.394]
h\ Dim D
@ 7789 J/,/& D im D |(N+1)X5.0[.197]
n®
i : ! \FLANGE SCREW M2.5 poles | Tolerance
— P 2-6p | £0.15[.006]
7-12p | £0.20[.008]
Dim A ?8% 12.6 13—18p | £0.30[.012]
228 [.496] 19-24p| +£0.40[.016]
[(108]
SCREW
7L i -
// o'g A
A o o) HOUISNG
— "\ |y v —
o Eﬂ Ejh)_\ o | o o3| NN
N
g 0 o|@®@]|o
~ pad ; s— 5
7] — L TERMINAL -
'/ "')E N 2p
S )ﬂ D2.6x3.3 o) N
o 25 Z [0.102x.130]
e [.098] 3.4 5.8
[.134] .228
Dim A
SECTION P—P
mat’l. code surface tolerance [projection |product family
ASME vns\/ ASME Y14.5 TERMINAL BLOCK
Itr |ecn no[dr |date |tolerances unless otherwise spegi title
E lod O X-£0.5 MM TERMINAL BLOCK
ONIeIE xxz03 “TINCHI_| PLUGGABLE PLUG, BACK SIDE HOOK,
XEU[ XXX0.1 scale W/FLANGE
|dr_ WENDY CHEN [ 051810 F c‘ dwg no sheet 4 of 5[size]
lengr| JASON HSU | 051810
e TR ‘J 20020011 A4
d| JOSEPH HSIA | 051810 type CUSTOMER Drawing B
B sheet [revision| | 1 I I O I |
index [sheet [ 1 [ 1 [ 1 L T T T T T 1
I form: A4mmXLe 1 | 2 I PDS: Rev :E3 STATUS:Released Printed: Sep 232011 I



|

Distributor of FCI: Excellent Integrated System Limited

= = = Datasheet of 20020011-G021B01LF - TERM BLOCK PLUG 2POS 270DEG 5MM
- & - a - . . . . . . .
r =—= = "==1  Contact us: sales@mtegrai._e&-mrcun.com Website: www.integrated-circuit.com —I
clegronic components '
“~ ™ S ™ ™
G G - G
1] 2 FClconnect.com 3] 4
PRODUCT NUMBER | SERIES NAME PITCH
20020011 —HXXXXXXLF| 02-508 5.08 mm
Dim C
N = Number of poles
Dim D Dim A [NX5.08[.200]+0.5[.020]
o Dim B[ (N—1)X5.08[.200]
u'ii 7 Dim C INX5.08[.2001+9.66[.380]
{ Dim D | (N+1)X5.08[.200]
@ GV G}I\Gz GV poles Tolerance
0% // 2—6p | +£0.15[.006]
e : ; FLANGE SCREW M2.5 7—12p | £0.20[.008]
—-P 13—18p | +£0.30[.012]
4.8 —
Dim A 189 28, 19-24p] +0.40[.016]
2.79 .
[.110] SCREW
g E -
// s HOUSING
A i = A
X — CLAMP
— L —| 1\
o ]A o '5" O.g o @ @ o
o~ Qo
q i | N ) 7 TERMINAL QB_QL
— L
77/
/ SHRE
J{'f H | e 2
[21’83] 3.4 5.8
: 02.6x3.3 [.134] .228
Dim A 0.102x.130
SECTION PP
5.08
.200 Dim B
528% mat’l. code f;::azfj \/|t;|uezr3:1‘c: projection |product family TERMINAL BLOCK
\ T Itr |ecn no[dr |date [tolerances unless otherwise spegi title
\ E 15| X.£0.5 MM
A A~ ongled S — r0 “TINGHT | PLUGGABLE ALUG. BACK SIDE HOOK,
@K@ ZB@ o XET[ | XXX0.1 scale W/FLANGE
dr | WENDY CHEN | 051810 a dwg no sheet 5 of 5[size|
I |TngA30N HSU_| 051810 Fc
Hor e B [chr [GARY HSIEH | 051810 ‘J 20020011 As
d| JOSEPH HSIA | 051810 type CUSTOMER Drawing B
sheet |revision| | 1 I I I I I I |
index [sheet | [ | [ 1 [ 1 I I I O
1 | 2 I PDS: Rev :E3 STATUS:Released Printed: Sep 232011 I



http://www.tcpdf.org
http://www.tcpdf.org

